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Dr. Cary Willard


Quiz 2A (20 points)					February 13, 2003





(6 points) Complete  and balance the following chemical equation and write total and net ionic equations





Pb(NO3)2(aq)  +      KI(aq)  (











Total ionic equation

















Net ionic equation




















(4 points)  Identify the following for the balanced chemical reaction below





Cd(s) + H2O(l) + Ni2O3(s) ( Cd(OH)2(s) + 2NiO(s)








Element oxidized			Oxidizing agent			








Element reduced			Reducing agent			








(2 points) How many moles of carbon are in a sample of fructose C6H12O6 containing 3.64 moles of hydrogen?














�
(4 points) An aqueous solution of sodium chloride (25.00% by weight) has a density of  1.102 g/mL.  How many moles of sodium chloride are contained in 50.0 mL of this solution?



























































(4 points) Diethyl ether, known for its early use as a surgical anesthetic, is very flammable and combusts (burns in air or with pure oxygen) rapidly:





C4H10O(l) + 6 O2(g)  ( 5  H2O(l) + 4 CO2(g)





How many grams of CO2 would be produced if 350.0 mL of diethyl ether were combusted in an unlimited amount of oxygen?  The density of diethyl ether is 0.713 g/mL.
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Quiz 2B (20 points)					February 13, 2003





(6 points) Complete  and balance the following chemical equation and write total and net ionic equations





Pb(NO3)2(aq)  +      KI(aq)  (











Total ionic equation

















Net ionic equation




















(4 points)  Identify the following for the balanced chemical reaction below





4Ag(s) + 8CN-1(aq) + O2(g) + 2H2O(l) ( 4Ag(CN)2-1(aq) + 4OH-1(aq)








Element oxidized			Oxidizing agent			








Element reduced			Reducing agent			








(2 points) How many moles of carbon are in a sample of fructose C6H12O6 containing 6.45 moles of hydrogen?














�
(4 points) An aqueous solution of sodium chloride (25.00% by weight) has a density of  1.124 g/mL.  How many moles of sodium chloride are contained in 50.0 mL of this solution?



























































(4 points) Diethyl ether, known for its early use as a surgical anesthetic, is very flammable and combusts (burns in air or with pure oxygen) rapidly:





	C4H10O(l) + 6 O2(g)  ( 5  H2O(l) + 4 CO2(g)





How many grams of CO2 would be produced if 450.0 mL of diethyl ether were combusted in an unlimited amount of oxygen?  The density of diethyl ether is 0.713 g/mL.








